ASSOCIATED),

WORLD CHAMPION R/C CARS

For Immediate Release: July 2025

Parts for the RC28 Team Kit

UPC Part No. Description Origin MSRP MAP S, O, A | Available

784695216266 | 21626 RC28R Chassis Plate TW $67.99 | $57.79 S Now

784695216273 | 21627 RC28R Rear Pod and Axle Carrier Set TW $79.99 | $67.99 S Soon

784695216280 | 21628 RC28R FT Axle Carrier Shim Set ™ $15.99 | $13.59 S Now
784695216297 | 21629 | RC28R Upper and Lower Pod Plate Set | TW $10.99 | $10.99 S Now
784695216310 | 21631 RC28R Pivot Block Set TW $33.99 | $28.89 S Now
784695216327 | 21632 | RC28RCenterBulkheadandBattery | 1y | g5499 | 52124 | s Now
Holder Set
784695216334 | 21633 RC28R Servo Mount Set T™W $23.99 | $20.39 S Now
784695216341 21634 | RC28R Upper and Lower Front Arm Set | TW $23.99 | $20.39 S Soon
RC28R Steering Block and
784695216365 | 21636 Servo Hom Set T™W $15.99 | $13.59 S Soon
784695216389 | 21638 | RC28R Kingpins and Arm Pivot Ball Set | TW $18.99 | $16.14 S Soon
784695216396 | 21639 |RC28R Side Link and Pivot Ball Insert Set| TW $15.99 | $13.59 S Soon
784695216402 | 21640 |RC28R Turnbuckle and Damper Tube Set| TW $17.99 | $15.29 S Soon
784695216419 21641 RC28R Center Shock Set ™ $28.99 | $24.64 S Soon
784695216426 | 21642 RC28R Gear Differential Set ™ $89.99 | $76.49 S Soon
RC28R Spur Gear and Differential
784695216433 | 21643 Cover Set TW $9.99 $9.99 S Soon
784695216440 | 21644 RC28R Gear Differential Rebuild Kit T™W $34.99 | $29.74 S Soon

RC28R Front Bumper and
Body Mount Set

784695216464 | 21646 3.5mm Ballstuds, M2x4mm (5pcs) ™ $14.99 | $14.99 S Soon

784695216457 | 21645 ™ $24.99 | $21.24 S Soon

784695216471 21647 | 3.5mm M2 Threaded Pivot Balls (10pcs) | TW $28.99 | $24.64 S Now




Ballstud Washer, 3.8x2.0x0.25mm

784695216488 | 21648 (10pcs) TW $15.99 | $13.59 S Now
784695216495 21649 |Ballstud Washer, 3.8x2.0x0.5mm (10pcs)| TW $12.99 [ $12.99 S Now
784695216501 | 21650 |Ballstud Washer, 3.8x2.0x1.0mm (10pcs) | TW $12.99 | $12.99 S Now
784695216518 | 21651 RC28R FT Front Spring Set, Fixed Arm | TW $8.99 $8.99 S,0 Soon
784695216525 | 21652 RC28R FT Center Spring Set ™ $8.99 $8.99 S, 0 Soon
784695216532 | 21653 RC28R FT Bearing Set ™ $19.99 | $16.99 S Now
784695216549 | 21654 RC28R Decal Sheet TW $4.99 $4.99 S Soon
784695216570 | 21657 RC28R FT Sidewall Flange Set, White TW $12.99 [ $1299 | S,0 Soon
784695216587 | 21658 RC28R FT Sidewall Flange Set, Yellow | TW $12.99 | $12.99 O Soon
784695216594 | 21659 RC28R Wheel Set, White TW | $12.99 | $12.99 S Soon
784695216600 | 21660 RC28R WHEEL SET, YELLOW TW $12.99 | $12.99 O Soon
784695216662 | 21666 M2 Bhcs Hardware Set (30pcs) T™W $7.99 $7.99 S Soon
784695216679 | 21667 M2 Fhcs Hardware Set (30pcs) ™ $8.99 $8.99 S Now
784695216686 | 21668 M2 Set Screw Hardware Set (20pcs) T™W $8.99 $8.99 S Soon
784695216693 | 21669 | RC28R Specialty Hardware Set (30pcs) | TW $9.99 $9.99 S Now

S = Spare Part. A replacement for the same part that comes with the vehicle.
O = Optional. A part that does not come with the vehicle.
A = A tool or part to help build or set up the vehicle.




